I. Thelma stands at the base of a plateau (see figure to the right)
with & flat tip, and a height, H = (2)(9.8) m. She throws a
10ck upwards at an angle, 6, so that it just reaches to top of the 1
plateau, The 10p of the plateau is covered with ice, and can be ’
approximated as frictionless. The slides actoss width
D = (4)(9.8) m of the platesu inatime T = 2.0 5.
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\0 ers ¢. The rock flies off the other side of the plateau, and eventually lands on the ground on the
ground. What is the total horizontal distance, R, that it traveled?
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2. Bill'is in the middle of an empty field, and launches off a model rocket. The rocket
has a mass of m Assume that the rocket travels in a straight line upwards.

D,1s 2 Theengines fired fora time, T, and the rocket statsfrom ret. Ifthe final velocity
¢ of the rocket is v, what is the average acceleration (magnitude and direction), 4,
of the rocket while its engine was firing?
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W(’}’S b. Neglect any drag force (air resistance) on the rocket. What is the magnitude and
direction of the force, Fy, that the rocket engines exert on the rocket as it fires?
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